Question Label : Multiple Choice Question

What will be the value of A at the end of the execution?
Options:

6406531559924, # F + F250

6406531559925. # F250

6406531559926. ¥ M + (F - F250)

6406531559927. # M + F250

Question Number : 16 Question Id : 640653469350 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 4

Question Label : Multiple Choice Question

What will be the value of B at the end of the execution?

Options:

6406531559928. ¥ M

6406531559929, # F-F250

6406531559930. ¥ M250

6406531559931. # M + (F - F250)

Sem1 English1

Section Id : 64065330304
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 22

Number of Questions to be attempted : 22

Section Marks : 50

Display Number Panel : Yes



Group All Questions : No

Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 64065367492
Question Shuffling Allowed : No
Is Section Default?: null

Question Number : 17 Question Id : 640653469351 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 0

Question Label : Multiple Choice Question

THIS IS QUESTION PAPER FOR THE SUBJECT "FOUNDATION LEVEL : SEMESTER 1: ENGLISH I"

ARE YOU SURE YOU HAVE TO WRITE EXAM FOR THIS SUBJECT?
CROSS CHECK YOUR HALL TICKET TO CONFIRM THE SUBJECTS TO BE WRITTEN.

(IF IT IS NOT THE CORRECT SUBJECT, PLS CHECK THE SECTION AT THE TOP FOR THE SUBJECTS
REGISTERED BY YOU)

Options :
6406531559932, ¢ YES

6406531559933. # NO

Sub-Section Number : 2
Sub-Section Id : 64065367493
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 640653469352 Question Type : COMPREHENSION Sub Question Shuffling

Allowed : No Group Comprehension Questions : No Question Pattern Type : NonMatrix



Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (18 to 22)
Question Label : Comprehension

Read the following passage and answer the given subquestions.

My vision for India in the 100th year of its Independence is that of a global innovation leader
focused on equitable and inclusive economic growth where everyone prospers in a secure
environment with equal access to healthcare, education and sustainable livelihoods. It is by
investing in breakthrough ideas and embracing entrepreneurship as an economic model of
growth that India will be able to unleash the power of innovation to ensure a better life for all its
citizens. Research and innovation, fuelled by technology, will catalyse the kind of non-linear
growth that will make the country one of the world's top three economies and bring it closer to

developed nation status by 2047.

The government has identified research, innovation and technology as the key drivers of its
VisionIndia@2047 and is making significant investments in these areas. Going forward, it must
enable and support innovative start-ups and businesses that think locally but have the potential to
make an enormous global impact. By encouraging technopreneurs to grow from small and
medium enterprises (SMEs) to large industrial-scale operations, India will be able to create a
compelling opportunity to take innovative ideas to global markets. We should aim to be among
the top 20 countries in the Global Innovation Index by 2047. Digital and data-backed innovation
combined with ubiquitous and affordable internet will help India build a robust digital economy of

the future.

Given India’s value advantage and scientific excellence, the country can innovate and drive the
technology frontier outward to boost productivity and efficiency in the sphere of healthcare, thus
delivering affordability and accessibility, enabling preventive health approaches and driving value
across the complete spectrum of the healthcare ecosystem. Technology-led innovations will help
India leapfrog the traditional linear model and take healthcare to the next level. It will help us
build a national healthcare system, which is accessible, organised, accountable, affordable and,

thus, resilient.

The groundwork for a digital transformation of healthcare in India has already been laid, thanks to

the reforms being implemented by the Centre to make healthcare-related regulations more



flexible. At the same time, the pandemic has forced changes in consumer behaviour, persuaded
doctors to become tech-savvy and prompted the healthcare industry to invest in user-friendly
digital solutions. These developments have created a fertile environment for the emergence of
low-cost, technology-led and scalable innovations anchored in affordability and accessibility. To
reap the full benefits of this digital disruption of healthcare, India will need to coordinate
policymaking, funding and implementation. It will also need to put in place appropriate regulatory
frameworks that foster patient trust and privacy, as well as enable faster adoption of emerging

technological innovations.

Sub questions

Question Number : 18 Question Id : 640653469353 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 2

Question Label : Multiple Choice Question

According to the author, what are the ways in which India could ensure better life for its citizens?
Options :

6406531559934, # Investing in heavy industries

6406531559935. # Investing in breakthrough ideas

6406531559936. ¥ Welcoming approach towards entrepreneurship

6406531559937. ¥ Both Investing in breakthrough ideas and Welcoming approach towards

entrepreneurship

Question Number : 19 Question Id : 640653469354 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 2

Question Label : Multiple Choice Question

Choose an appropriate replacement for the word catalyst.

Options :

6406531559938. ¥ Reactive

6406531559939. ¢ Accelerate



6406531559940. # Disruptive

6406531559941. ¥ Move

Question Number : 20 Question Id : 640653469355 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 2

Question Label : Multiple Choice Question

The key drivers of VisionIndia@2047 are

Options :

6406531559942, # Research

6406531559943, * Innovation

6406531559944. # Technology

6406531559945. « All of these

Question Number : 21 Question Id : 640653469356 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 2

Question Label : Multiple Choice Question

How could India utilise the technological advancements in healthcare?

Options:

6406531559946. ¥ Coordinating policy making, funding, and implementation

6406531559947. * Expanding the benefits of technology

6406531559948. # Converting health sector into digitally powered one

6406531559949. # All of these

Question Number : 22 Question Id : 640653469357 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 2



Question Label : Multiple Choice Question

Key components for a robust digital economy are
Options:

6406531559950. # Research

6406531559951. ¢ Affordable internet
6406531559952, # Investment in breakthrough ideas

6406531559953. # All of these

Question Id : 640653469358 Question Type : COMPREHENSION Sub Question Shuffling
Allowed : No Group Comprehension Questions : No Question Pattern Type : NonMatrix

Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (23 to 27)
Question Label : Comprehension

Listen to the audio sample and answer the given subquestions:

885_640653_0_1984128_hs1001gz1ane1g6bmqg.mp3

Sub questions

Question Number : 23 Question Id : 640653469359 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 2

Question Label : Multiple Choice Question

Where is the location of Natalie Portman'’s high school?

Options :

6406531559954. ¥ Miami

6406531559955. # London

6406531559956. ¥ Long Island

6406531559957. # New Orleans



Question Number : 24 Question Id : 640653469360 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 2

Question Label : Multiple Choice Question

How old was Natalie Portman when she went to Syosset High School?

Options :

6406531559958. # 7

6406531559959. # 8

6406531559960. + 9

6406531559961. # 10

Question Number : 25 Question Id : 640653469361 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 2

Question Label : Multiple Choice Question

What is the meaning of ‘white-out?

Options :

6406531559962. ¥ A correction fluid for covering writing mistakes

6406531559963. # Try to escape

6406531559964. * Not having any more gas in the car

6406531559965. # To make a bill

Question Number : 26 Question Id : 640653469362 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 2

Question Label : Multiple Choice Question

How old was Natalie Portman when started acting?

Options :



6406531559966. * 9 years
6406531559967. # 10 years
6406531559968. +" 11 years

6406531559969. # 12 years

Question Number : 27 Question Id : 640653469363 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 2

Question Label : Multiple Choice Question

Among the following, which topic did the speaker deal with?

Options :

6406531559970. # Loneliness

6406531559971, # Gratitude

6406531559972. * Honesty

6406531559973. ¢ Self-doubt

Sub-Section Number : 3
Sub-Section Id : 64065367494
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 640653469364 Question Type : COMPREHENSION Sub Question Shuffling
Allowed : No Group Comprehension Questions : No Question Pattern Type : NonMatrix

Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (28 to 32)
Question Label : Comprehension

Read the following telephonic conversation and fill in the blank with appropriate responses

for the given subquestions:

Arun: Good morning Ms.Girija!

Class Teacher: Good morning! (i)




Arun: Iam Arun Srinivasan. I am the class monitor of the class of which you are the class teacher,
6E.

Class Teacher: Oh yes, Arun! I could not recognise your voice. The audio (ii)

Arun: Is the audio better now, ma’am?

Class Teacher: Yes yes, tell me. (iii)

Arun: Ma'am, I wanted to check your availability for scheduling the PTA meeting. (iv) the
slot from 2 PM, on the 28th of this month?

Class Teacher: Let me check my schedule... Yes, I am free in that slot. You can confirm it.

Arun: Thanks a lot, ma’am. I will schedule the meeting for that slot and send out an email to the
class.

Class Teacher: Sure, go ahead. (v) Arun?

Arun: No ma'am. Thanks for your time!

Class Teacher: You are welcome, Arun. See you on Monday.

Sub questions

Question Number : 28 Question Id : 640653469365 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1

Question Label : Multiple Choice Question

Fill in the blank (i) with an appropriate response.

Options:

6406531559974, # Hello! Is that?

6406531559975. ¥ Who is calling, please?

6406531559976. # What's up?

Question Number : 29 Question Id : 640653469366 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1

Question Label : Multiple Choice Question

Fill in the blank (ii) with an appropriate response.



Options :
6406531559977. ¥ Was not clear.
6406531559978. # Will end soon.

6406531559979. # Launch would be rather musical.

Question Number : 30 Question Id : 640653469367 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1

Question Label : Multiple Choice Question

Fill in the blank (iii) with an appropriate response.

Options :

6406531559980. # Where is the party tonight?

6406531559981. # Will you just stop calling?

6406531559982. ¥ How may I help you?

Question Number : 31 Question Id : 640653469368 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1

Question Label : Multiple Choice Question

Fill in the blank (iv) with an appropriate response.

Options :

6406531559983. " Will you be free in

6406531559984, # Can we tour

6406531559985. # Is it possible to have a feast in

6406531559986. # All of these

Question Number : 32 Question Id : 640653469369 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Correct Marks : 1

Question Label : Multiple Choice Question

Fill in the blank (v) with an appropriate response.
Options :

6406531559987. # Bye.

6406531559988. # I am through.
6406531559989. # Don't call back.

6406531559990. ¥ Is there anything else?

Question Id : 640653469375 Question Type : COMPREHENSION Sub Question Shuffling
Allowed : No Group Comprehension Questions : No Question Pattern Type : NonMatrix

Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (33 to 37)
Question Label : Comprehension

Match Column A with suitable options in Column B. (Hint: Word collocation)

A B

1. Deeply a) Price

2. Loud b} Wind
3. Hefty ¢} Attention
4. Media d) Accusation

5. Blowing |¢) Rooted

Based on the above data, answer the given subquestions.

Sub questions

Question Number : 33 Question Id : 640653469376 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1



Question Label : Multiple Choice Question
Deeply ___

Options:

6406531560006. * Price
6406531560007. * Wind
6406531560008. # Attention
6406531560009. * Accusation

6406531560010. ¥ Rooted

Question Number : 34 Question Id : 640653469377 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1

Question Label : Multiple Choice Question

Loud

Options :

6406531560011. * Price

6406531560012. # Wind

6406531560013. # Attention

6406531560014. ¥ Accusation

6406531560015. # Rooted

Question Number : 35 Question Id : 640653469378 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1

Question Label : Multiple Choice Question

Hefty

Options :

6406531560016. ¥ Price

6406531560017. * Wind



6406531560018. # Attention
6406531560019. ¥ Accusation

6406531560020. # Rooted

Question Number : 36 Question Id : 640653469379 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1

Question Label : Multiple Choice Question

Media ___

Options :

6406531560021. # Price

6406531560022. # Wind

6406531560023. ¥ Attention

6406531560024. # Accusation

6406531560025. # Rooted

Question Number : 37 Question Id : 640653469380 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1

Question Label : Multiple Choice Question

Blowing __

Options :

6406531560026. # Price

6406531560027. ¥ Wind

6406531560028. # Attention

6406531560029. ¥ Accusation

6406531560030. # Rooted

Sub-Section Number : 4

Sub-Section Id : 64065367495



Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 640653469370 Question Type : COMPREHENSION Sub Question Shuffling
Allowed : No Group Comprehension Questions : No Question Pattern Type : NonMatrix

Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (38 to 41)
Question Label : Comprehension

Context: A new development project is going to come up in your area that involves a lot of
displacement of people. Different stakeholders with the project are stating their opinion on

the various impacts, and the pros and cons of the project. Answer the given subquestions.

Sub questions

Question Number : 38 Question Id : 640653469371 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1

Question Label : Multiple Choice Question

A social activist is stating her opinion on this. The perspective she would choose is:

Options :

6406531559991. ¥ Making the masterplan larger

6406531559992. # Giving refreshments to the construction workers

6406531559993. ¢ The problem of displacement of the people in the community

Question Number : 39 Question Id : 640653469372 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1

Question Label : Multiple Choice Question

The project engineer is giving her opinion. Her perspective would be:

Options :



6406531559994. # The loss of open spaces for the community
6406531559995. # The air pollution that will follow the construction
6406531559996. ¥ The human cost of the development project

6406531559997. ¢ The primary, secondary, and tertiary benefits of the project for the community

Question Number : 40 Question Id : 640653469373 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1

Question Label : Multiple Choice Question

A family that has been staying there for generations and has a shop in the vicinity is giving their

opinion. Their perspective would be:

Options :

6406531559998. # Fear of displacement

6406531559999. # Loss of livelihood

6406531560000. # Neither Fear of displacement nor Loss of livelihood

6406531560001. ¥ Both Fear of displacement and Loss of livelihood

Question Number : 41 Question Id : 640653469374 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1

Question Label : Multiple Choice Question

An unemployed young man from the area is stating his opinion. His perspective would be:
Options :

6406531560002. ¥ Hope for employment opportunities with the project

6406531560003. # Concern for displacement of his friends and family

6406531560004. ¥ Both Hope for employment opportunities with the project and Concern for
displacement of his friends and family
6406531560005. # Neither Hope for employment opportunities with the project nor Concern for

displacement of his friends and family



Sub-Section Number : 5

Sub-Section Id : 64065367496
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 42 Question Id : 640653469381 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1

Question Label : Multiple Choice Question

Select true or false for the following statement.

‘Sum up' is an in-separable phrasal verb.
Options :
6406531560031. # TRUE

6406531560032. ¥ FALSE

Question Number : 43 Question Id : 640653469382 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1

Question Label : Multiple Choice Question

Fill in the blank with the appropriate option.

The meaning of the phrasal verb ‘take after’ is

Options :

6406531560033. * Begin a new hobby
6406531560034. ¥ Resemble somebody in appearance
6406531560035. * Accept the job

6406531560036. * Write on a paper



Question Number : 44 Question Id : 640653469383 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1

Question Label : Multiple Choice Question

Select true or false for the following statement.

The phrase ‘once in a blue moon’ means ‘something that happens very frequently'.
Options :
6406531560037. # TRUE

6406531560038. ¥ FALSE

Question Number : 45 Question Id : 640653469384 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1

Question Label : Multiple Choice Question

Choose the correct option.

"

you please open the door?” - he asked politely.
Options :

6406531560039. *# Can

6406531560040. ¥ Must

6406531560041. ¥ Shall

6406531560042. + Could

Question Number : 46 Question Id : 640653469385 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1

Question Label : Multiple Choice Question



Choose the correct option.

To join this sports academy, students be 17 years old.
Options :
6406531560043. * Has to

6406531560044. ¥ Must

Question Number : 47 Question Id : 640653469386 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1

Question Label : Multiple Choice Question

Fill in the blank with an appropriate article:

Why weren't you carrying _____ umbrella?
Options :

6406531560045. # A

6406531560046. ¥ An

6406531560047. * The

6406531560048. * No article

Question Number : 48 Question Id : 640653469387 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1

Question Label : Multiple Choice Question

Identify the part of speech of the underlined word.

The teacher is here.
Options :

6406531560049. ¥ Noun



6406531560050. #* Pronoun
6406531560051. # Adjective

6406531560052. * Preposition

Question Number : 49 Question Id : 640653469388 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1

Question Label : Multiple Choice Question

Select the correct pronoun.

Did shesee__ ?
Options:
6406531560053. # We

6406531560054. ¢ Us

Question Number : 50 Question Id : 640653469389 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1

Question Label : Multiple Choice Question

Complete the sentence by choosing the correct form of the verb given in bracket.

Shewas ____ (bite) by a shark.
Options :

6406531560055. # Bite
6406531560056. # Biting
6406531560057. # Bit

6406531560058. + Bitten

Question Number : 51 Question Id : 640653469390 Question Type : MCQ Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1

Question Label : Multiple Choice Question

Which one of the following words is a preposition?

Options :

6406531560059. # Silly

6406531560060. ¥ Thankful

6406531560061. ¥ Underneath

6406531560062. ¥ Gratefully

Question Number : 52 Question Id : 640653469391 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1

Question Label : Multiple Choice Question

Choose the appropriate option.

SorryIam late. My vehicle _____ petrol.
Options :

6406531560063. * Ran out on
6406531560064. ¥ Ran out of
6406531560065. # Ran out

6406531560066. * Ran into

Question Number : 53 Question Id : 640653469392 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1

Question Label : Multiple Choice Question

Which of the following sounds are non-aspirated and non-voiced



Options :

6406531560067. # /ch/
6406531560068. #* /d/
6406531560069. ¥ /p/
6406531560070. #* /b/

Question Number : 54 Question Id : 640653469393 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1

Question Label : Multiple Choice Question

Choose the word with /u/ sound from the following

Options:

6406531560071. ¥ Hook

6406531560072. * Soon

6406531560073. * Boon

6406531560074. ¥ Both soon and boon

Question Number : 55 Question Id : 640653469394 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1

Question Label : Multiple Choice Question

Which semi-vowel occurs in the transition between the words She and advised in the sentence ‘She

aadvised him to stay home.”?
Options:
6406531560075. ¥ /y/

6406531560076. * /w/

Question Number : 56 Question Id : 640653469395 Question Type : MCQ Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1

Question Label : Multiple Choice Question

Vowel sounds are produced due to the free flow of air without constriction. This statement is:
Options :

6406531560077. ¥ TRUE

6406531560078. * FALSE

Question Number : 57 Question Id : 640653469396 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1

Question Label : Multiple Choice Question

Answer whether true or false.

/w/ and /y/ are monophthongs.
Options :
6406531560079. ¥ TRUE

6406531560080. ¥ FALSE

Sem1 Maths1

Section Id : 64065330305
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 12

Number of Questions to be attempted : 12

Section Marks : 50



